FBAURIBMBFEAET 2 ARE 2024FEEFHRFTERT AR (HEOH) BF Fe—%

FER (AfrFE THREMERSHE)
EX V&S 1R SF F R 4R
R— YEME Y
%? 3 fir SRy
D2 61 - —
4 it A
2 AT —— %N |
S3 26 R o g
s2 35 30 54 el
S1 62 D2 61
- D1 60
3 MILBT SFILEE | S3 62 e
32 S2 10 S 4 —_—
D2 76(4) S1 10 SEILIR
Jr D1 63 I R
4 SR - S3 16 4 e D2 61
S2 06 30 = 1 pros
S1 75 D2 66 B S3 06
= - D1 64 S2 62
5 BN oL S3 75 S1 63
32 S2 63
D2 46 S1 05 S
2R TE
DI 61 5
6 4 KKt S3 60 DAy Rt o
S2 06 30
S1 61 D2 61 N
>/ D1 60 o | x&H
7 *j(_ﬁ‘. %EE S3 63 Tj‘u—lﬁ -
30 S2 30
D2 60 S1 23
— 1 neo
s ATk 53 00 sz
S1 00 A RERTHTR BB T
3]
D2 61
1 ns1
I S3 16 4 KRt
s261 |32
S1 25 D2 26
D1 61
% KKt PN\ i) S3 06
32 S2 76(4)
D2 46 S1 62
B — S
S2 61
S1 61
ok AR TE
s
le(l}ﬁ‘ £ H




BURIBMBRZAT =2 KE 2024FEEBMBRPERT =2 KkE (AEROH) LT Fe—%K

FEWR (AL FE TOEMEREHS)
AR IR SF F s 1B
» YEME S K76
L BLESFEE ———
20 3L e
D2 64 i B
, %‘mt% D1 ea VWA SR
S3 60 Bl 5 (7 R
S2 30 30
St — [D2 76(5)
-+ - D1 61
3 D$ﬁ FHPPE | S3 64 SR E
40 S2 — T S MR o
D2 62 St — A mE
e Ay 3 — 1 nes3 32
4 BRIRIE S3 60 =N D2 26
S2 60 31 = 1 Dp12e
S1 00 D2 16 BE S3 60
- D1 63 S2 62
5 KINH P SHi) S3 60 S1 60
3] S2 60
D2 06 S1 05 e
ONLIRTE
. D1 60 = ——
6 <P s3 60 | KrrmE KIFH
S2 05 3] ikl
S1 60 D2 63 zlsfcﬁjzj%%i%
TBRE gy | 50 e ——
3] S2 60
D2 76(4) S1 —
= | DI 60
8 %m S3 16 SR TE
S2 43 R L& T OME
S1 61 HiR
3]
D2 64
- 1 nies3
HAR S3 36 =
s225 |32
S1 61 D2 60
. D1 62
Il BE S3 46
30 S2 06
D2 60 S1 63
" D1 63
3 S3 60
S2 —
S1 —
LR TE
HiR — )
TS




